Program # 36

Effective Date: July 12, 2021 - September 13, 2021

Ships From: Litchfield, MI



Raker Poinsettias

Poinsettias available in 25 strips - Flexible packaging allows orders with greater variety diversity Each variety comes with a specific response time for better timed orders Cumulative Annual Discount Program and Early Order Discounts resulting in extremely competitive All poinsettia varieties available in a 25 strip tray, Raker offers live availability updates through their website so you enver have to guess on availability.

Shipping Season July 12, 2021 - September 13, 2021

Order Minimum Minimum order is 4 trays.

Orders under \$300 are welcome, please note they will be subject to a \$25.00

processing fee.

Packing Flexible packaging 1 – 8 trays (full or strip trays) of any crop are packed per

box.

Lead Time Varies by variety and size.

FOB Litchfield, MI

Ship Methods UPS, FedEx, Grower Truck (50+ trays), Customer Pick-up

Freight Charges Freight charges will be added to the invoice.

This vendor charges freight by the tray which means no requirement to fill the

box.

Boxing & Other Charges Included in the freight charge.

Patent & Royalty Included in the price of the plants. Patented varieties are clearly marked next

to each item and propagation of these varieties is prohibited.

Tags are available at 7¢ each at 50 per 36 or 51 strip tray, and 100 per 160

tray, but may be adjusted by multiples of 25. Please request tags when

placing your order.

Tag Rules T4 = Tags are unavailable

Discount 10% Early Order Discount available for orders placed prior to 5/3/2021

Volume pricing, which begins with 16 trays, is based on last year's volume accumulated across all Raker-Roberta's orders or until the current year's volume exceeds last year. Please call for a quote if your Annual Volume will be over 16 trays.

Claims

Must be reported to Germania Seed Company within 24 hours of receiving plants. Photos are requested to aid in assessing claims when possible. Please take clear photos of any damage to the box and/or plants and include the tray label whenever possible. All requests for credit must be finalized within 21 days of shipment. Customers that utilize the FedEx Signature Release Authorization, or waive the requirement to sign for packages via UPS, can impair our ability to resolve shipping claims and may limit liability for any resulting losses.

Cancellations

There is a 50% restocking fee for all cancellations after production has begun. Custom items may result in additional charges.

Additional Info

Items in this Raker program may be combined with other Raker programs that ship on the same date (Annuals, Perennials, Mums, Poinsettias, Pansy) for volume discounts.

Germania Seed Company www.germaniaseed.com

Raker-Roberta's - Points 2021 Plant Order Form

Ph. 800-380-4721 Fax: 800-410-4721 mail@germaniaseed.com

Ship date Customer Number		Customer Number	Company Name		who placed the order	how did they place the order	
Special Ins	structions	<u> </u> :					
vendor	sku	tray code	QTY	item	tray	price each	price tray
736	85848	RCC		POINSETTIA ADVANTAGE RED (Midseason)	25 CELL	1.690	\$42.25
736	73193	RCC		POINSETTIA ADVENT RED (Very Early Bright Red)	25 CELL	1.690	\$42.25
736 736	91654 91657	RCC RCC		POINSETTIA ALASKA (White) POINSETTIA ALPINA (White)	25 CELL 25 CELL	1.616 1.616	\$40.40 \$40.40
736	67694	RCC		POINSETTIA ALTINA (Wille) POINSETTIA AUTUMN LEAVES (Midseason Golden Peach)	25 CELL	1.766	\$44.15
736	91660	RCC		POINSETTIA CHRISTMAS ANGEL (Early Red)	25 CELL	1.616	\$40.40
736	67679	RCC		POINSETTIA CHRISTMAS AURORA (Midseason Red)	25 CELL	1.616	\$40.40
736	89948	RCC		POINSETTIA CHRISTMAS BEAUTY CINNAMON (Midseason)	25 CELL	1.616	\$40.40
736	67633	RCC		POINSETTIA CHRISTMAS BEAUTY MARBLE (Midseason Pink Marble)	25 CELL	1.616	\$40.40
736	85850	RCC		POINSETTIA CHRISTMAS BEAUTY NORTH POLE (Midseason White)	25 CELL	1.616	\$40.40
736 736	82229 68633	RCC RCC		POINSETTIA CHRISTMAS BEAUTY PINK (Midseason) POINSETTIA CHRISTMAS BEAUTY PRINCESS (Early Dark Pink w/Light Ctr)	25 CELL 25 CELL	1.616 1.616	\$40.40 \$40.40
736	67700	RCC		POINSETTIA CHRISTMAS BEAUTY PRINCESS (Early Dark Filik W/Light Ctt) POINSETTIA CHRISTMAS BEAUTY QUEEN (Midseason Pink)	25 CELL	1.616	\$40.40
736	67695	RCC		POINSETTIA CHRISTMAS BEAUTY RED (Midseason)	25 CELL	1.616	\$40.40
736	91661	RCC		POINSETTIA CHRISTMAS BELLS (Midseason Deep Red)	25 CELL	1.616	\$40.40
736	89947	RCC		POINSETTIA CHRISTMAS CHEER (Early)	25 CELL	1.616	\$40.40
736	78127	RCC		POINSETTIA CHRISTMAS DAY RED (Midseason Dark Red)	25 CELL	1.616	\$40.40
736	74883	RCC		POINSETTIA CHRISTMAS EVE RED (Very Early)	25 CELL	1.616	\$40.40
736	76504	RCC		POINSETTIA CHRISTMAS FEELINGS MERLOT (Midseason Burgundy)	25 CELL	1.616	\$40.40
736	70358	RCC		POINSETTIA CHRISTMAS FEELINGS PINK (Midseason)	25 CELL	1.616	\$40.40
736 736	67678 78141	RCC RCC		POINSETTIA CHRISTMAS FEELINGS RED (Midseason) POINSETTIA CHRISTMAS FEELINGS RED CINNAMON (Midseason Pink w/Red Spots)	25 CELL 25 CELL	1.616 1.616	\$40.40 \$40.40
736	70359	RCC		POINSETTIA CHRISTMAS FEELINGS WHITE (Early)	25 CELL	1.616	\$40.40
736	84341	RCC		POINSETTIA CHRISTMAS GLORY RED (Early)	25 CELL	1.616	\$40.40
736	89949	RCC		POINSETTIA CHRISTMAS JOY MARBLE (Early)	25 CELL	1.616	\$40.40
736	66798	RCC		POINSETTIA CHRISTMAS JOY PINK (Early)	25 CELL	1.616	\$40.40
736	84342	RCC		POINSETTIA CHRISTMAS JOY RED (Early)	25 CELL	1.616	\$40.40
736	67684	RCC		POINSETTIA CHRISTMAS JOY WHITE (Early)	25 CELL	1.616	\$40.40
736	89950	RCC		POINSETTIA CHRISTMAS MAGIC RED (Very Early)	25 CELL	1.616	\$40.40
736 736	67673 91662	RCC RCC		_ POINSETTIA CHRISTMAS MORNING (Early Red) POINSETTIA CHRISTMAS MOUSE (Red)	25 CELL 25 CELL	1.616 1.616	\$40.40 \$40.40
736	78136	RCC		POINSETTIA CHRISTMAS MOOSE (Red) POINSETTIA CHRISTMAS SEASON MARBLE (Very Early Pink/Cream)	25 CELL	1.616	\$40.40
736	78137	RCC		POINSETTIA CHRISTMAS SEASON PINK (Very Early)	25 CELL	1.616	\$40.40
736	74884	RCC		POINSETTIA CHRISTMAS SEASON RED (Very Early)	25 CELL	1.616	\$40.40
736	78138	RCC		POINSETTIA CHRISTMAS SEASON WHITE (Very Early)	25 CELL	1.616	\$40.40
736	89946	RCC		POINSETTIA CHRISTMAS SPIRIT (Early)	25 CELL	1.616	\$40.40
736	85853	RCC		POINSETTIA CHRISTMAS TRADITIONS (Late Red)	25 CELL	1.616	\$40.40
736	89945	RCC		POINSETTIA CHRISTMAS WISH PINK (Midseason)	25 CELL	1.616	\$40.40
736	72233 74891	RCC		POINSETTIA CHRISTMAS WISH RED (Midseason)	25 CELL 25 CELL	1.616 1.690	\$40.40 \$42.25
736 736	74891	RCC RCC		POINSETTIA CLASSIC RED (Midseason) POINSETTIA CLASSIC WHITE (Midseason)	25 CELL	1.690	\$42.25
736	94355	RCC		POINSETTIA EARLY POLLY'S PINK	25 CELL	1.690	\$42.25
736	71622	RCC		POINSETTIA ENDURING MARBLE (Midseason Cream/Pink)	25 CELL	1.690	\$42.25
736	65623	RCC		POINSETTIA ENDURING PINK (Midseason)	25 CELL	1.690	\$42.25
736	71624	RCC		POINSETTIA ENDURING RED (Midseason)	25 CELL	1.690	\$42.25
736	71630	RCC		POINSETTIA ENDURING WHITE (Midseason)	25 CELL	1.690	\$42.25
736	70361	RCC		POINSETTIA FREEDOM EARLY RED (Early)	25 CELL	1.690	\$42.25
736	56580	RCC		POINSETTIA FREEDOM PINK (Midseason) POINSETTIA FREEDOM RED (Midseason)	25 CELL	1.690	\$42.25
736 736	56581 56582	RCC RCC		POINSETTIA FREEDOM RED (Midseason) POINSETTIA FREEDOM WHITE (Midseason)	25 CELL 25 CELL	1.690 1.690	\$42.25 \$42.25
736	94356	RCC		POINSETTIA FROZEN	25 CELL	1.690	\$42.25
736	40767	RCC		POINSETTIA GOLDEN GLO (Midseason Bright Yellow)	25 CELL	1.690	\$42.25
736	91668	RCC		POINSETTIA HOLLY BERRY Midseason Red)	25 CELL	1.616	\$40.40
736	76492	RCC		POINSETTIA ICE PUNCH (Midseason Red w/White Center)	25 CELL	2.288	\$57.20
736	34096	RCC		POINSETTIA JESTER RED (Early Dark Red)	25 CELL	1.690	\$42.25
736	84344	RCC		POINSETTIA JUBILEE JINGLE BELLS (Early Red w/Pink Flakes)	25 CELL	1.690	\$42.25
736	82226	RCC		POINSETTIA JUBILEE PINK (Early)	25 CELL	1.690	\$42.25
736 736	80254 84345	RCC RCC		_ POINSETTIA JUBILEE RED (Early) POINSETTIA JUBILEE WHITE (Early)	25 CELL 25 CELL	1.690 1.690	\$42.25 \$42.25
736 736	84345	RCC		POINSETTIA JUBILEE WHITE (EATIY) POINSETTIA LUV U PINK (Late Pink Euphorbia)	25 CELL 25 CELL	1.690	\$42.25 \$42.25
736	82231	RCC		POINSETTIA LOV O FINK (Late Fink Ediphorbia) POINSETTIA MARBELLA (Early Pink/Cream)	25 CELL	1.616	\$40.40
736	34099	RCC		POINSETTIA MARBLESTAR (Midseason Pink/Cream)	25 CELL	1.690	\$42.25

Germania Seed Company www.germaniaseed.com

Raker-Roberta's - Points 2021 Plant Order Form

Ph. 800-380-4721 Fax: 800-410-4721

	J			Traine Order Form	mail@germaniaseed.com		
vendor	sku	tray code	QTY	item	tray	price each	price tray
736	60053	RCC		POINSETTIA MAREN (Midseason Salmon Pink)	25 CELL	1.690	\$42.25
736	78130	RCC		POINSETTIA NOEL RED (Early)	25 CELL	1.616	\$40.40
736	94360	RCC		POINSETTIA ORANGE GLOW	25 CELL	1.616	\$40.40
736	76493	RCC		POINSETTIA POLAR BEAR (Midseason White)	25 CELL	1.690	\$42.25
736	73205	RCC		POINSETTIA POLLYS PINK (Midseason Hot Pink)	25 CELL	1.690	\$42.25
736	73206	RCC		POINSETTIA PRESTIGE EARLY RED (Midseason Dark Red)	25 CELL	1.690	\$42.25
736	71617	RCC		POINSETTIA PRESTIGE MAROON (Midseason)	25 CELL	1.690	\$42.25
736	63334	RCC		POINSETTIA PRESTIGE RED (Midseason Dark Red)	25 CELL	1.690	\$42.25
736	94354	RCC		POINSETTIA PRESTIGIOUS RED	25 CELL	1.690	\$42.25
736	80255	RCC		POINSETTIA RED GLITTER (Late Red w/White Flecks)	25 CELL	1.690	\$42.25
736	72754	RCC		POINSETTIA RED SOUL (Midseason)	25 CELL	1.690	\$42.25
736	40761	RCC		POINSETTIA SNOWY WHITE (Early)	25 CELL	1.616	\$40.40
736	82235	RCC		POINSETTIA SPARKLING PUNCH (Midseason Pink/Cream)	25 CELL	1.690	\$42.25
736	91675	RCC		POINSETTIA SUPERBA NEW GLITTER (Midseason Bicolor)	25 CELL	1.616	\$40.40
736	78132	RCC		POINSETTIA TAPESTRY (Midseason Red w/Var. Foliage)	25 CELL	1.690	\$42.25
736	82227	RCC		POINSETTIA TIKAL RED (Midseason)	25 CELL	1.690	\$42.25
736	72238	RCC		POINSETTIA VALENTINE (Midseason Dark Red Ruffled)	25 CELL	1.616	\$40.40
736	56576	RCC		POINSETTIA WINTER ROSE DARK RED (Late Ruffled)	25 CELL	1.766	\$44.15
736	67579	RCC	·	POINSETTIA WINTER ROSE EARLY RED (Midseaon Ruffled)	25 CELL	1.766	\$44.15
736	76506	RCC		POINSETTIA WINTERSUN WHITE (Early)	25 CELL	1.616	\$40.40